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Answers to this paper must'be written on (|ye paper provided separately
You will "‘m be allowed to write during the first 15 minutes.
This timce is to be spent in reading the question paper
The time given at the head of this paper is the time allowed for writing the answers.

Atfcmpt all questions from Section A ang any four questions from Scction B
All working, including rough work, must be clearly shown and must be done on the same
shect as the rest of the answer, Omission of essential working will result in loss of marks.
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Question 1

3 —1 : |
e (@) IfA= [0 2], find matrix B such that A%—=2B =3A + 51 where I is a2 x 2 identity
matrix.

(3)
(b) An integer is chosen at random from 1 to 50. Find the probability that the number is
(i) divisible by 5 (ii) a perfect square  (iif) a prime|number 3)
& : 4 ‘
(<) Ajay deposited Rs.150 per month in a bank for 8 months under the recurring deposit scheme.
What will be the maturity value of his deposit at the rate of 8% per annum? . )

Question 2
\‘f(a) From a solid cylinder of height 12 cm and base radiﬁsys cm a conical cavity of same base and
height is curved out. Find the volume and total surface arca of the remaining solid, ©)

s 1 3 :‘ ", -~
(b) Find the 30" term of the sequence: 2 1, PR Also, find the sum of the first ten terms. 3



(c) Ia the following figure Pis a POINt an (he chord BC A
of a circle. such that AB = AP. Prove thay cp = cO

(4)

B8 C
Question 3 . 2 B 5
(2) If X, Y, z are in continued proportion. Proye that: y(x:;) -~ ‘}3';7 )
(b) Prove that: (cos A — st A" 2na) =sec A &)

2cos2A-1

(c) Given that (x + 1) is a factor of the polynomial 2x* + ax? + bx — 2 and when the polynomial
is divided by (x + 2) the remainder is —12. Determine ‘a’ and ‘b’. Hence, factorize the

polynomial completely. 4)
Question 4 .
(2) Solve the following inequation if, x € N and write the solution in the set builder notation,
1 3x
3 S STLS = ‘ AISO, represent the solutxon on a2 number hne ; 3)
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(b) Solve the given quadratic cquation x2— 10x + 6 0and’ gwe your answer correct to two
significant ﬁgurcs i1 : 3)

(c) Find the coord_inates of P, where P divid the line segment A(~2, 3) and B(3 ,—4) inthe

L : 3
ratio 2 : 3, Also, find the equation of the ough P whose gradient is > @
: (Attempt any fo -\ _ﬁQns from this scction)
6ucslinn 5 <
o8 16 =7
(a) Find the GP whose second term an}éighth term is B (3)
3. MR
(b) How much should a man invest in hares selling at Rs.110 to obtain an annual income

(¢) Use graph paper for this question. Plot e point A (6, 4) and B (0, 4)
(i) Reflect A and B in the origin an
(ii) State a name for the figur

(iii) Find the perimeter of @)



Questioy,

(@) Using
€ the Properticesg of proportioy sol _
MIfA<=[1 4 Ve for y, X yay = 341 o
| E [0 *3] and B = [1 2 3x241 91
£ 0. ~10

Verify Whether (A+BY2=A2y 2, 2

(©) A de; i
n ‘n,a c'.\lC‘l n :l\grﬂ (Up) SUPDHCS goods (Won] ]

*INSLsupplies the same BOOS 10 o deglor : ! {s.l()()()) to a dealer in Jh

ansi (UP). The dealer
Umbg;
Fthe product bai at a profit of Rs

600, Assun'{ing that the
i) N r the dealer in Jhang; (?d the rate of GST is 12%, find:
iii ' i ; .
et GST Payable by the dealer in Jhans;j (i\?)(')l’l:tztlné:xfi:i }t\l;cd(i::la(l:er. in 1\; hans. -
il T 1n Mumbati
Question 7 . ' :
(2) For what valye i
of k will the quadratic ¢ uati 2
roots? Also, solve the equation so obtainedq O ACHIIEE N+ 9 = O have real angiEeen
.. : (3)
(®) Construct a trian

i gle 1f1d\.thch BC=8cm, AR = 6 cm and 2ABC= 60°. Mark a point P inside

S equidistant from AB,BCand B and C. Give the measurement of PB&EE (3)

(SO A el e . r 4 o R

.(c?) ana mgp drawn toa'scaleof 1 : 250000 a triaggulax plot of land has the fél’lovﬁ;gf;ﬁe;gmes
p}B:_ somiBC =4 Ct and £ABC = 909, Calculate: >
(i) the actual length of AB in ke,

(ii) the actual area of triangle ABC in sqkm.

4
,(juestion 8. .
(@ ,Find_fche ratio in which (4, p) divides the line Joining the points (6,-2) and (-3,16). Also, find
the value of p. ; . 58 :
| 3)
3 : s | .
(b) If the mean of the following distribution is 7.5, find the value of £ ™ 3)
Variable - | 5 6% 7 SS9 1 i (g | 12 |
Frequency 20 17 £ 10°'] s | 6 |7 | 6 |

(c ) Draw a circle of radius 3.2cm. Take a point N at a distance of 5.7 cm from the centre of the
circle. Construct the tangents to the circle from the point N. Find the length of the tangent.  (4)

: 0 1
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(a) In the given figure ABCD is a parallelogram. :
CE intersects the diagonal BD at G. If EF | | BC and
AE:EB=1:2, find: ; x o
(i) EF : AD (ii) area of (ABEF : AABD ) /




) If the straight line 3x —4y = 7.and 4,

(1)]uc of a. Also find the value ofaif it
Vi

Y+ 9= 0 are perpendicular to cach othey, find th(:(3)
€S are parallel.

: allte- @ ofradius ¢ .. " ,
©A solid mcm'lllu sphere "M s melted and made into a solid cylinder of

height 32 cm. Find: (i) the radius of'l‘c cylinder (i1) the curved surface arca of the cylipder.
(Tnkcﬂ:ll) (4)

Auestion 10

(ﬂ) A car covers a distance 0f400 km at g certain spcc(]. Had 1bhc spCCd been 12 km/h]' more,
the time taken for the journcy would have e, 1 hour 40 minutes Jess. Find the original speed

of the car. g
 (b)In the given figure AB is the diameter
and tangent C meets AB at P. If £CAB = 490
find: (i) 2CBA (ii) PCB

(c) Amal invested Rs.9600,.0n Rs.100 shares at Rs.20 premium, paying 8% dividend. He sold

(he shares when the price rose-to Rs.160. He invested the proceeds (excluaing the dividena) in

10% Rs.50 shares at Rs.40. Find : 4

(i) The original nurr;bf_;f of shares he purchased - (ii) Sale proceeds

(iii) Number of shares he purchase ' (iv) His change in income @)
/Qucstion 11 gz

(a) Using a graph paper, draw an ogive for the following distribution. Use the scale 2cm=10 units

on both axes. e ® : |
Marks @ [ 0-10 | 10-20 | 20-30 ] 30-40 | 40-50 . | 50-60 |'60-70 | 70-80 | 80-90 | 90-109 |
Students| 3 7 12 17 23 14 -9 6 5 a

From the graph, find:

(i) the median mark.

(ii) the interquartile range N

(iii) if 85% and above qualifies a student for a scholarship, find how many students qualified for
the scholarship, 4‘ , 3T (6)
(b) The angle of elevation of the top o;fa tower is observed to be 60°. At a point 30 m vertically
above the first point, on observation, the angle of elevation is found to be 45°. Find _

(i) the height of the tower (to the neamst m). ‘

(i1) its horizontal distance from the pt?mts of observation. )

S s



